
Rogers Cellular 
Approved Mounts

2023



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 2

Universal 6’ Sector Frames

Rogers Approved Sector Frames

OEM P/N RCPC Part# Description Antenna Pipe (QTY) & Size Weight

3VFA6-30120RCI 1H0-1001-V2 Three 6’ Sector SD frame (2) tieback per frame w/RRU Pipe (9) 2-7/8” x 120” SCH 40 1,625 lb

3VFA6-ROGERS 1H0-1002-V2 Three 6’ Sector SD frame (2) tieback per frame (6) 2-7/8” x 120” SCH 40 1,435 lb

3P30120-K 1H0-1003-V2 RRU Pipe Kit w/U-Bolts (3) 2-7/8” x 120” SCH40 190 lb

DESCRIPTION:
•	 Guyed and SST Applications Feature our new BCAM™ Taper Adjustment System  

(see below for more details)
•	 Features our new Quick-Plate™ for easy grounding and addition of RRU Mounting Pipes  

or Unistrut
•	 Round-member face offers lower wind resistance
•	 Frames rotate for easy azimuth adjustment
•	 Guyed and SST Mounting Range: 1-1/2” to 9-1/2” Round Legs and 3” to 6” Angles
•	 Monopole Mounting Range: 12”-45”

BCAM™ Taper Adjustment 

System 
•	 Easily adjust the taper of 

a fully loaded frame while 
mounted to the tower with a 
battery operated impact gun by 
tightening or loosening one nut

•	 Infinitely adjustable from –2.5 to 
6 degrees

Quick-Plate ™ Grounding & RRU 

Pipe Mount
•	 Integrated plates accommodate up to eight 

lugs per plate for grounding (there are four 
plates per V-Frame)

•	 Slotted holes allow attachment of 2-3/8” - 
4-1/2” OD pipes to support RRU’s (Pipe and 
U-Bolts purchased separately)

•	 The 3/8” holes can also be used to attach 
Unistrut to the frame

FEATURES:

3VFA6-ROGERS



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 3

SUPER XLD Heavy-Duty V-Frames

Rogers Approved Sector Frames

OEM P/N RCPC Part# Description Weight

VFA12-HD 1H0-1001-VW 12' - 6" XLD Heavy Duty V-Frame with two 2 stiff arms 735 lb

DESCRIPTION:
•	 SUPER XLD - Our most robust Sector Frame designed for the most extreme loading 

conditions
•	 Feature our BCAM™ Taper Adjustment System (see below)
•	 Feature our Quick-Plate™ for easy grounding and addition of RRU Mounting Pipes or 

Unistrut
•	 Include Two Stiff Arms and hardware to mount 2-3/8” and 2-7/8” Antenna Mounting 

Pipes
•	 Frames rotate for easy azimuth adjustment

BCAM™ Taper Adjustment 

System 
•	 Easily adjust the taper of 

a fully loaded frame while 
mounted to the tower with a 
battery operated impact gun by 
tightening or loosening one nut

•	 Infinitely adjustable from –2.5 to 
6 degrees

Quick-Plate ™ Grounding & RRU 

Pipe Mount
•	 Integrated plates accommodate up to eight 

lugs per plate for grounding (there are four 
plates per V-Frame)

•	 Slotted holes allow attachment of 2-3/8” - 
4-1/2” OD pipes to support RRU’s (Pipe and 
U-Bolts purchased separately)

•	 The 3/8” holes can also be used to attach 
Unistrut to the frame

FEATURES:



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 4

SD V-Frame

Rogers Approved Sector Frames

OEM P/N RCPC Part# Description Weight

VFA8-SD 1H0-101K-V3 8’ Standard Duty V-Frame with two 2 stiff arms

DESCRIPTION:
•	 Feature our BCAM™ Taper Adjustment System
•	 Feature our Quick-Plate™ for easy grounding and addition of RRU mounting pipes or 

unistrut
•	 Round-member face offers lower wind resistance 
•	 Frames rotate for easy azimuth adjustment
•	 Include stiff arm and hardware to mount 2-3/8” antenna mounting pipes 
•	 Contact us for load and engineering data
•	 US Patent No.: US 10,316,511 B1

BCAM™ Taper Adjustment 

System 
•	 Easily adjust the taper of 

a fully loaded frame while 
mounted to the tower with a 
battery operated impact gun by 
tightening or loosening one nut

•	 Infinitely adjustable from –2.5 to 
6 degrees

Quick-Plate ™ Grounding & RRU 

Pipe Mount
•	 Integrated plates accommodate up to eight 

lugs per plate for grounding (there are four 
plates per V-Frame)

•	 Slotted holes allow attachment of 2-3/8” - 
4-1/2” OD pipes to support RRU’s (Pipe and 
U-Bolts purchased separately)

•	 The 3/8” holes can also be used to attach 
Unistrut to the frame

FEATURES:



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 5

Universal Face Pipe Mount Assemblies

Rogers Approved Face Assembly

OEM P/N RCPC Part# Description Weight

TAP-472 1H0-1006-VW Tubular-Arm Pipe Mount, 80” Face with 4-1/2” x 72” Mounting Pipe 240 lb

TAP-NP 1H0-101L-V3 Tubular Arm Pipe Mount 80" Fac

TAP-PM 1H0-101M-V3 Pipe Mount Hardware and Plates

FACE-ASY1-NPS 1H0-106A-V2 Single Level Single Sector Face 264 lb

FACE-PM 1H0-106B-V2 Face Assembly Pipe Mount Kit 52 lb

DESCRIPTION:
•	 Universal mounts designed for the most difficult face mount applications
•	 Easily adjustable taper up to 8º (based on 60” spacing of brackets)
•	 Work with face pipes 2-7/8”, 3-1/2”, or 4-1/2” OD
•	 Attach to 1-1/2” to 9-1/2” round members or 3” to 6” angles

FACE-ASY1-NPS

FACE-PM



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 6

OEM P/N RCPC Part# Description Weight

SPTB 1H0-106I-V2 Sliding Pipe Tie Back Assembly 89 lb

SPTB278 1H0-106J-V2 Sliding Pipe Tie Back Assembly 115 lb

SPTB-NP 1H0-106K-V2 Sliding Pipe Tie Back Assembly 48 lb

SPTB278-NP 1H0-106L-V2 Sliding Pipe Tie Back Hardware 51 lb

PUCK 1H0-106M-V2 4” Adj Disk Clamp Tie Back Kit 6.2 lb

Rogers Approved Tie-Back Assemblies
Sliding Tie-Back Assemblies

DESCRIPTION:

Tie-Back Assembly:
•	 Available with 2-3/8” or 2-7/8” by 10’-6” Pipe
•	 Leg bracket fits round legs from 1-1/2” to 8-5/8” OD,
•	 60° angle legs up to 8”, and 90° angle legs up to 6”
•	 Universal sector frame attachment hardware fits 1-1/2” to 5” OD

SPTB-NP

SPTB

PUCK

PUCK:
•	 Drop-forged design for increased strength and durability
•	 Hot-dip galvanized 
•	 All hardware included 
•	 Angle adjusts from 40° to 140°



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 7

Rogers Approved Triple T-Arm Kits

OEM P/N RCPC Part# Description Antenna Pipe (QTY) & Size Weight

RMV5-3096 1H0-1004-V2 Monopole Triple T-Arm Kit (6) 2-7/8” x 96” SCH 40 1,025 lb

RMV5-NP 1H0-1005-V2 Monopole Triple T-Arm Kit Order separately 685 lb

RM-ADK 1H0-1009-V2 45” - 60” Large-Pole Adapter Kit 106 lb

RMV5-3096

DESCRIPTION:
•	 Kit includes Ring Mount, three Support Arms, three 3-1/2” x 5’ horizontal Crossarms and 

listed Antenna Mounting Pipes and hardware
•	 RMV5-NP Version requires Antenna Pipes and mounting hardware to be ordered 

separately

Monopole Triple T-Arm

LWRM - Ring Mount 

FEATURES:

•	 Strong welded design attaches to 12” to 45” diameter poles
•	 Face plate offers 4” x 4” and 6” x 6” bolt connections
•	 RM-ADK available for larger poles and ranges from 36” to 60”



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 8

Rogers Approved Double T-Arm Kits
Double Monopole T-Arm

DESCRIPTION:
•	 Kit includes Ring Mounts, six Support Arms, six 3-1/2” x 8’ horizontal Crossarms and 

listed Antenna Mounting Pipes and hardware
•	 43-7/8” maximum antenna spacing

OEM P/N RCPC Part# Description Standoff Antenna Pipe (QTY) & Size Weight

RMVD8-296-18 1H0-1001-V3 8' Double Monopole T-Arm 18" (9) 2-3/8" x 96" 1881 lb

RMVD8-2120-18 1H0-1002-V3 8' Double Monopole T-Arm 18" (9) 2-3/8" x 120" 1937 lb

RMVD8-296-24 1H0-1003-V3 8' Double Monopole T-Arm 24" (9) 2-3/8" x 96" 1918 lb

RMVD8-2120-24 1H0-1004-V3 8' Double Monopole T-Arm 24" (9) 2-3/8" x 120" 1974 lb

RMVD8-3-3072 1H0-102B-V2 8' Double Monopole T-Arm 36" (9) 2-7/8" x 72" 2043 lb

RMVD8-3-3084 1H0-102C-V2 8' Double Monopole T-Arm 36" (9) 2-7/8" x 84" 2095 lb

RMVD8-3-3096 1H0-102D-V2 8' Double Monopole T-Arm 36" (9) 2-7/8" x 96" 2173 lb

RMVD8-3-3120 1H0-1008-V3 8' Double Monopole T-Arm 36" (9) 2-3/8" x 120" 2252 lb

LWRM - Ring Mount 

FEATURES:

•	 Strong welded design attaches to 12” to 45” diameter poles
•	 Face plate offers 4” x 4” and 6” x 6” bolt connections
•	 RM-ADK available for larger poles and ranges from 36” to 60”



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 9

OEM P/N RCPC Part# Description Weight

SP219 1H0-106C-V2 Pipe Support Cross Plate Kit 13 lb

SP216 1H0-106D-V2 Pipe Support Cross Plate Kit 29 lb

SP216-CK 1H0-106E-V2 Pipe Support Cross Plate Center 44 lb

Rogers Approved Cross Plates
Pipe Support Cross Plates

DESCRIPTION:
•	 Heavy-duty saddle design prevents Pipe rotation
•	 U-Bolts included
•	 Hot-dip galvanized

SP216

SP219

SP216-CK



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 10

OEM P/N RCPC Part# Description Weight

6CHMT 1H0-1067-V2 6 Sided Monopole Mount (17-1/2 272 lb

UGLM-DCP 1H0-1068-V2 RRU Ring Mount, 10-1/2" - 28" 113 lb

Rogers Approved Mount Kits
Subheader

DESCRIPTION:

XLD SIX-SIDED MONOPOLE MOUNT KIT
•	 Xtreme Load Design to safely support multiple RRU’s or antennas
•	 Fits round or polygon poles from 17-1/2” to 56” diameter
•	 Order 2-3/8” or 2-7/8” Antenna Mounting Pipes separately (six required)

RRU RING MOUNT KITS
•	 Mount up to 6 RRUs
•	 Designed to stay as close as possible to the monopole for reduced wind load
•	 Accepts 1-1/2” to 4-1/2” Mounting Pipes (order separately)

UGLM-DCP

6CHMT



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 11

Rogers Approved Pipe Mount Kits
R5 Universal Pipe Mounts

DESCRIPTION:
•	 Sliding brackets for the most difficult tower attachments
•	 R5 includes 4-1/2” x 72” Antenna Mounting Pipe
•	 R5-UP version includes hardware for mounting 1-1/2” to 4-1/2” OD Antenna Mounting 

Pipes, but no Pipe
•	 Easily adjustable taper up to 5.7° (based on 30” spacing of brackets)
•	 Kits include U-Bolts and all hardware

OEM P/N RCPC Part# Description Application Pipe Weight

R5 1H0-102E-V2 Two brackets, pipe & hardware 1-1/2” to 4-1/2” OD Members 4-1/2” x 72” 137 lb

R5-UP 1H0-102F-V2 Two brackets & hardware 1-1/2” to 4-1/2” OD Members No Pipe Included; Accepts Antenna 
Mounting Pipes 1-1/2” to 4-1/2” 91 lb

LLEG-K 1H0-102G-V2 Large-Leg Adapter Kit 4-3/4” to 10-3/4” Diameter & 3” 
to 8” Angles N/A 78 lb

R5 R5-UP LLEG-K



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 12

Rogers Approved Pipe Mounts
R6 Heavy-Duty Universal Pipe Mount Kit

DESCRIPTION:
•	 Heavy-duty sliding brackets for difficult tower attachments
•	 Includes 4-1/2” x 72” Antenna Mounting Pipe
•	 Easy-adjustment taper up to 5.7° (based on 30” spacing of brackets)
•	 Fits round leg sizes 1-1/2” to 9-1/2” diameter and angle sizes 3” to 6”
•	 With BCAM-HDLL fits up to 16” round legs or #12 Truss Legs
•	 With BCAM-HDLL-AA fits up to 12” 90º angle legs or #12 Breakdown Legs

OEM P/N RCPC Part# Description Pipe Size Weight

R6 1H0-1061-V2 Heavy-duty Universal Pipe Mount Kit 4-1/2” x 72” 265 lb

R6-UP 1H0-101R-V3 Heavy Duty Universal Mount - No Pipe N/A 198 lb

R6



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 13

Part # RCPC Part#
Smaller Pipe
Smaller Angle

Larger Pipe
Larger Angle

Threaded Rods Kit Quantity

UPC2 1H0-1060-V2
1-1/4” - 4-1/2”

1-1/2” - 3”

1-1/4” - 10”

3” - 7”
(8) 1/2” x 15” Kit of 2

Rogers Approved Pipe Mounts
Universal Pipe-to-Pipe Clamp Sets

DESCRIPTION:
•	 Universal design allows attachment of pipes to pipes or angles
•	 Wide operating range insures that you will always have the right clamp set
•	 Taper adjustable
•	 Kits include upper and lower clamp sets



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 14

OEM P/N RCPC Part# Description Weight

WCL4 1H0-1065-V2 20', 4-Run Cable Ladder 73 lb

CLK-U 1H0-1066-V2 Universal Ladder Attachment Ki 5 lb

T1200 1H0-1069-V2 12 Run Universal T-Bracket 7.2 lb

Rogers Approved Cable Ladder
Cable Ladders and T-Brackets

DESCRIPTION:

CABLE LADDER
•	 Each 20’ section includes six waveguide brackets that are pre-punched for Snap-In 

Hangers and Butterfly Hangers
•	 Hole pattern allows 40” (6 brackets per section) or 60” (4 brackets per section) spacing
•	 1-3/4” x 1-3/4” x 1/8” side rails
•	 Each kit includes splices to attach additional sections
•	 All parts are hot-dip galvanized
•	 Purchase attachment kits separately (minimum of two kits required per 20’ ladder 

section)

UNIVERSAL LADDER ATTACHMENT KIT
•	 Used to attach Cable Ladders to towers
•	 Use a minimum of two kits per 20’ section of Ladder
•	 Kit includes two formed plate brackets and four J-Bolt assemblies
•	 All parts are hot-dip galvanized

SUPER UNIVERSAL T-BRACKET
•	 Mount to round legs or angle legs (60° or 90°)
•	 T1200 stands 18” off tower leg and supports up to 12 runs of cable using Snap-In 

Hangers
•	 Hot-dip galvanized

T1200

CLK-U

WCL4



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 15

Rogers Approved Ice Shield Kits

OEM P/N RCPC Part# Description Size Weight

MIS-24 1H0-1021-V2 Mini Ice Shield 24” x 24” 70 lb

ISMD4 1H0-1022-V2 Microwave Dish Ice Shields (4’ Antenna Diameter) 48” x 62” 325 lb

ISMD6 1H0-1023-V2 Microwave Dish Ice Shields (6’ Antenna Diameter) 72” x 62” 365 lb

ISMD8 1H0-1024-V2 Microwave Dish Ice Shields (8’ Antenna Diameter) 96” x 62” 445 lb

ISMD10 1H0-1025-V2 Microwave Dish Ice Shields (10’ Antenna Diameter) 120” x 62” 500 lb

CIS06 1H0-100R-VW 6’ Curved Antenna Ice Shield 88.75” x 60” 740 lb

DESCRIPTION:
Ice Shields

MINI ICE SHIELD (MIS-24)
•	 Universal mounting design with all hardware included
•	 Mounts to 1-1/4” to 10” round legs or 3” to 7” angle legs
•	 Sloped design protects antennas and equipment from falling ice
•	 Low cost and ships inexpensively

MICROWAVE DISH ICE SHIELDS (ISMDX)
•	 Protect antennas from falling ice
•	 Mount to 4-1/2” Pipe Mount used for dish 
•	 8’ and 10’ Ice Shields require separate 4-1/2” OD Pipe Mounts (p. 11)
•	 Kits include Ice Shield and mounting hardware, does not include Pipe Mount

MIS-24

ISMD6

CIS06



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 16

Rogers Approved Mount Accessories
Mount Accessories

OEM P/N RCPC Part# Description Application Weight

LWRM 1H0-1006-V2 Universal Ring Mount 12"-45" Universal Tri-Bracket 250 lb

UGLM 1H0-1007-V2 Lightweight Ring Mount Assembly Lightweight Tri-Bracket 89 lb

UQB4 1H0-106N-V2 Quad Universal Ring Mount Kit Universal Quad-Bracket 352 lb

MM01 1H0-1008-V2 8" Monopole Standoff Arm 8” Support Arm 37 lb

MM02 1H0-102H-V2 24” Monopole Standoff Arm 24” Support Arm 40 lb

DSM2 1H0-1005-VW Monopole Dual Standoff Arm  
for (2) antennas

Dual 28” Standoff, 36” 
Antenna separation 86 lb

FMA1-2 1H0-101N-V3 Flush Mount Adapter Flush Mount 1.5” to 4.5” 
OD Pipe 30 lb

LWRM

DESCRIPTION:
RING MOUNTS
•	 Included in many of our kits, but also available separately
•	 Wider operating range than other brands
•	 Designed to stay as close as possible to the monopole, not interfering with external  

climbing ladders
•	 6” x 6” bolt pattern
•	 Perfect for applications using two antennas per sector
•	 Large and Small Pole Adapter Kits also vailable

MM01

STANDOFF ARMS FOR SINGLE ANTENNA
•	 Accept 2-3/8”, 2-7/8”, or 3-1/2” Pipes vertically or horizontally
•	 Fit our standard or lightweight Ring Mounts
•	 Includes attachment hardware
•	 Mounting plate is 1/2” thick by 8-1/2” square with four 11/16” holes on 6” centers
•	 Standoff is 4” x 3/16” square tube

UQB4

DSM2



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 17

Rogers Approved Mount Accessories
Crossover Plate Kits

OEM P/N RCPC Part# Smaller Pipe Size Larger Pipe Size Quantity Weight

SCX1-K 1H0-1014-V2 2-3/8” 2-3/8” 1 Plate, 4 U-Bolts & Hardware 8 lb

SCX2-K 1H0-1015-V2 2-3/8” 2-7/8” 1 Plate, 4 U-Bolts & Hardware 9 lb

SCX23-K 1H0-1016-V2 2-7/8” 2-7/8” 1 Plate, 4 U-Bolts & Hardware 9 lb

SCX3-K 1H0-1017-V2 3-1/2” 3-1/2” 1 Plate, 4 U-Bolts & Hardware 12 lb

SCX43-K 1H0-1018-V2 2-3/8” 3-1/2” 1 Plate, 4 U-Bolts & Hardware 10 lb

SCX4-K 1H0-1019-V2 2-3/8” 4-1/2” 1 Plate, 4 U-Bolts & Hardware 10 lb

SCX45-K 1H0-101A-V2 2-7/8” 3-1/2” 1 Plate, 4 U-Bolts & Hardware 10 lb

SCX6-K 1H0-101B-V2 2-7/8” 4-1/2” 1 Plate, 4 U-Bolts & Hardware 15 lb

SCX6-U 1H0-106F-V2 1-1/2” to 2-7/8” 2-1/2” to 6” 1 Plate, 4 V-Clamps, 2 U-Bolts & Hardware 21 lb

SCX7-K 1H0-101C-V2 3-1/2” 4-1/2” 1 Plate, 4 U-Bolts & Hardware 12 lb

SCX7-U 1H0-106G-V2 1-1/2” to 3-1/2” 1-1/2” to 4 1/2” 1 Plate, 4 V-Clamps & Hardware 17 lb

SCX34-K 1H0-104O-V2 4-1/2” 4-1/2” 1 Plate, 4 U-Bolts & Hardware 13 lb

DESCRIPTION:

SCX45-K

SCX23-K

•	 Heavy-duty Crossover Plate Kits are used to attach Pipes in 90° fashion
•	 U-Bolts and hardware included
•	 Hot-dip galvanized

SCX7-U

UNIVERSAL CROSSOVER PLATE KITS (SCX6-U & SCX7-U)
•	 Accommodate the new sizes of Antenna Pipes being used today
•	 Universal feature removes any uncertainty in the field
•	 All hardware included
•	 Hot-dip galvanized



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 18

Rogers Approved Mount Accessories
Back-to-Back Pipe Mount Kits and Pipe-to-Pipe Clamp Sets

OEM P/N RCPC Part# Pipe Sizes Stand-off Arms Weight

BACK-TO-BACK PIPE MOUNT KITS

BBPM-K2 1H0-102I-V2 2-7/8” 3-1/2”- 4-1/2” 18 lb

BBPM-U 1H0-102J-V2 2-3/8” - 4-1/2” 2-3/8” -  4-1/2” 25 lb

DESCRIPTION:
BACK-TO-BACK PIPE MOUNT KITS 
•	 Simple way to add RRU’s to a monopole stand-off arm
•	 Provide back-to-back Pipes, useful for RRU mounting
•	 BBPM-U uses Clamp Halves for universal Pipe sizes
•	 Order Mounting Pipes separately

Order Mounting 
Pipes separately

PIPE-TO-PIPE CLAMP SETS
•	 Used for attaching pipes in parallel orientation
•	 All hardware included
•	 Hot-dip galvanized

Part # RCPC Part# Pipe Size Clamp  
Thickness

Threaded  
Rod Weight

PIPE-TO-PIPE CLAMP SETS

DCP12K 1H0-102K-V2 1-1/2” - 5” 1/2” 5/8” x 12” 21 lb

Kit includes 2 of the 
clamp set shown



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 19

Rogers Approved Mount Accessories
Mount Accessories

OEM P/N RCPC Part# Description Weight

P248 1H0-100X-V2 Galvanized Pipe (2-3/8" x 48") 15 lb

P360 1H0-101O-V3 3-1/2" OD x 60" Sch 40 Galvani

P372 1H0-101P-V3 3-1/2" x 72" Schedule 40 Galva

P384 1H0-101Q-V3 3-1/2" x 84" Schedule 40 Galva

P2150 1H0-106H-V2 Galvanized Pipe (2-3/8" x 150") 46 lb

P3084 1H0-102L-V2 Galvanized Pipe (2-7/8” x 84”) 41 lb

P3096 1H0-100Y-V2 Galvanized Pipe (2-7/8” x 96”) 65 lb

P30120 1H0-100Z-V2 Galvanized Pipe (2-7/8" x 120") 62 lb

P30150 1H0-1010-V2 Galvanized Pipe (2-7/8” x 150”) 100 lb

P396 1H0-102M-V2 Galvanized Pipe (3-1/2" x 96") 61 lb

P3148 1H0-1011-V2 Galvanized Pipe (3-1/2" x 148") 88 lb

P3160 1H0-102N-V2 Galvanized Pipe (3-1/2" x 160") 130 lb

P472 1H0-1012-V2 Galvanized Pipe (4-1/2” x 72”) 69 lb

P4126 1H0-1013-V2 Galvanized Pipe (4-1/2” x 126”) 121 lb

P4252 1H0-1007-VW Galvanized Pipe (4-1/2” x 252”) 227 lb

DESCRIPTION:
•	 Plain-end hot-dip galvanized pipe
•	 ASTM A53 Grade B, Schedule 40

OEM P/N RCPC Part# Description

PC238 1H0-101K-V2 Pipe Cap: 2-3/8” OD Pipe

PC278 1H0-101L-V2 Pipe Cap: 2-7/8” OD Pipe

PC312 1H0-101M-V2 Pipe Cap: 3-1/2” OD Pipe

PC412 1H0-102O-V2 Pipe Cap: 4-1/2” OD Pipe



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 20

Rogers Approved Mount Accessories
Flange Pipe & Bulk Material

DESCRIPTION:

OEM P/N RCPC Part# Description Weight

FP396 1H0-102P-V2 3-1/2” OD x 96” 75 lb

FP3120 1H0-102Q-V2 3-1/2” OD x 120” 92 lb

FP496 1H0-102R-V2 4-1/2” OD x 96” 105 lb

FP4120 1H0-102S-V2 4-1/2” OD x 120” 128 lb

OEM P/N RCPC Part# Description Weight

ANG314-10-50 Galvanized Angle (3” x 3” x 1/4”), 10' length 49 lb

ANG314-20-50 1H0-104P-V2 Galvanized Angle (3” x 3” x 1/4”), 20' length 98 lb

ANG414-10-50 Galvanized Angle (4” x 4” x 1/4”), 10' length 66 lb

ANG414-20-50 Galvanized Angle (4” x 4” x 1/4”), 20’ length 132 lb

FLANGE PIPE 
•	 Kits include 5/8” dia. x 2-1/2” hardware
•	 FP3xx has a 4” x 4” to 6” x 6” slot pattern
•	 FP4xx has a 5” x 5” to 7” x 7” slot pattern
•	 Hot-dip galvanized

BULK MATERIAL 
•	 Angle: A572-50 (50 ksi min. yield)
•	 Other structural steel shapes available - special order
•	 Hot-dip galvanized



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 21

Rogers Approved Platforms Accessories
Platform Kits

OEM P/N RCPC Part# Description Weight

MEP42 1H0-104R-V2 Modular Equipment Platform Base (4' x 2') 117 lb

MEP44 1H0-104S-V2 Modular Equipment Platform Base (4' x 4') 221 lb

MEP46 1H0-104T-V2 Modular Equipment Platform Base (4' x 6') 315 lb

MEP48 1H0-104U-V2 Modular Equipment Platform Base (4' x 8') 410 lb

MPAD-S 1H0-104V-V2 Small Footpad, (12" x 12") footprint, (13” - 18-1/2”) height adjustment 23 lb

MPAD-L 1H0-104W-V2 Large Footpad, (18" x 18") footprint, (13” - 18-1/2”) height adjustment 39 lb

MPAD-EX33 1H0-104X-V2 Footpad Height Extension (27-1/2” - 32-1/2”) 25 lb

MPAD-EX48 1H0-104Y-V2 Footpad Height Extension (42-1/2” - 47-1/2”) 42 lb

MPAD-BRC 1H0-104Z-V2 Footpad Height Extension Bracing Kit 6 lb

MMAT 1H0-1050-V2 Footpad Rubber Mat (1/2" x 18" x 18")

MEP42 MEP44

MEP46 MEP48

MPAD-SMPAD-L

MPAD-EX48MMAT



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 22

Rogers Approved Platforms Accessories
Platform Kits

OEM P/N RCPC Part# Description Weight

MRAIL-2 1H0-1051-V2 Handrail, 42" height, 2' section (2' x 42") 30 lb

MRAIL-4 1H0-1052-V2 Handrail, 42" height, 4' section (4' x 42") 65 lb

MRAIL-6 1H0-1053-V2 Handrail, 42" height, 6' section (6' x 42") 104 lb

MSPLICE-C 1H0-1054-V2 Handrail Corner Splice Kit, splices supporting top, mid, and kick-plate connections 7 lb

MSPLICE-S 1H0-1055-V2 Handrail Straight Splice Kit, splices supporting top, mid, and kick-plate connections 8 lb

MOPEN-4 1H0-1056-V2 Handrail Access Point, supports connection point for stairs and stair rails 55 lb

MSTEP-1 1H0-1057-V2 Step/Handrail combo, one step (W-35-1/2”), fixed height, supports platform height of (9” - 14”) 55 lb

MSTEP-2 1H0-1058-V2 Step/Handrail combo, two steps (W-32”), adj. height, supports platform height of (14” - 23”) 182 lb

MSTEP-3 1H0-1059-V2 Step/Handrail combo, three steps (W-32”), adj. height, supports platform height of (19” - 34”) 246 lb

MSTEP-4 1H0-105A-V2 Step/Handrail combo, four steps (W-32”), adj. height, supports platform height of (24” - 43”) 312 lb

MSTEP-1LD 1H0-105B-V2 Step only (no handrail), one step (W-35-1/2”), fixed height, supports platform height of (9” - 14”) 82 lb

MSTEP-2LD 1H0-105C-V2 Step only (no handrail), two step (W-35-1/2”), fixed height, supports platform height of (14” - 23”) 143 lb

MPIPEM 1H0-105D-V2 Handrail Pipe Clamps, two clamps & hardware, supports (1-1/2" to 5") OD pipes 15 lb

MPCOV610 1H0-105E-V2 Platform Ice Guard, supports (6’ x 10’) equipment platform 894 lb

MPCOV810 1H0-105F-V2 Platform Ice Guard, supports (8’ x 10’) equipment platform 928 lb

MPCOV812 1H0-105G-V2 Platform Ice Guard, supports (8’ x 12’) equipment platform 1,019 lb

MPCOV1010 1H0-105H-V2 Platform Ice Guard, supports (10’ x 10’) equipment platform 1,026 lb

MRAIL-4
MSPLICE-S

MOPEN-4 MSTEP-3

MSTEP-1LD

MPCOV810



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 23

Rogers Approved Mount Accessories
Square Strut

DESCRIPTION:
•	 1-5/8” x 1-5/8” x 10’ heavy-duty 12 ga slotted square Strut
•	 Available in electro galvanized, hot-dip galvanized, and  

stainless steel versions

UNT10

US10

OEM P/N RCPC Part# Length Slot Size Spacing Finish Weight

UNT10 1H0-102T-V2 10’ 7/16” x 3” 4” Electro Galvanized 16 lb

US10 1H0-102U-V2 10’ 9/16” x 1-1/8” 2” Electro Galvanized 15 lb

US10-HDG 1H0-102V-V2 10’ 9/16” x 1-1/8” 2” Hot-Dip Galvanized 15 lb

US10-SS4 1H0-102W-V2 10’ 9/16” x 1-1/8” 2” Stainless Steel 17 lb

SNT10 1H0-105I-V2 10’ 7/16” x 1-1/8” 3” Hot-Dip Galvanized 11 lb



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 24

Rogers Approved Mount Accessories
Square Strut Accessories

SQUARE NUTS

•	 Accepts 3/8” hardware
•	 Works with all 1-5/8” wide Struts
•	 Hot-dip galvanized

SPRING NUTS

•	 Accept 3/8” hardware
•	 SP78 is electro-galvanized; SP158 is hot-dip galvanized

•	 Use to hang pipe from Square Rail supports
•	 Electro-galvanized finish

OEM P/N RCPC Part# Strut Size Weight

SP78 1H0-102X-V2 1-5/8” x 7/8” 0.1 lb

SP158 1H0-102Y-V2 1-5/8” x 1-5/8” 0.1 lb

OEM P/N RCPC Part# Strut Size Weight

SQN1 1H0-102Z-V2 1-5/8” 0.1 lb

SQUARE RAIL TUBING CLAMPS

OEM P/N RCPC Part# OD Size Load Rating Weight

TC238 1H0-1030-V2 2-3/8” 800 lb 0.35 lb

TC278 1H0-1031-V2 2-7/8” 800 lb 0.4 lb

TC312 1H0-1032-V2 3-1/2” 800 lb 0.5 lb

TC412 1H0-1033-V2 4-1/2” 1,000 lb 0.7 lb

RUBBER END CAPS

•	 Molded rubber end caps for 1-5/8” x 1-5/8”  
 and 1-5/8” x 7/8” Strut

Part # RCPC Part# Strut Size Color Weight

UNICAP 1H0-105K-V2 1-5/8” White 0.05 lb

CAP78 1H0-105J-V2 7/8” White 0.03 lb



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 25

Rogers Approved Mount Accessories
U-Bolts

OEM P/N RCPC Part# Description (Diameter x Inside Width x Inside Length x Thread)

UB3200 1H0-105L-V2 3/8” x 2” x 3” x 1-1/4” U-Bolt 

UB3212 1H0-101D-V2 3/8" x 2-1/2” x 3-5/8” x 1-3/4” U-Bolt

UB3300 1H0-101E-V2 3/8" x 3” x 4-1/4” x 2” U-Bolt

UB1212 1H0-101F-V2 1/2" x 2-1/2” x 4-1/2” x 2” U-Bolt

UB1300 1H0-101G-V2 1/2" x 3” x 5" x 2” U-Bolt

UB1358 1H0-101H-V2 1/2" x 3-5/8” x 5-1/2” x 3” U-Bolt

UB1306 1H0-101I-V2 1/2" x 3-5/8” x 6” x 3” U-Bolt

UB1458 1H0-101J-V2 1/2" x 4-5/8” x 7” x 3” U-Bolt

UB5300 1H0-105M-V2 5/8” x 3” x 5-1/4” x 2-1/2” U-Bolt

UB5358 1H0-105N-V2 5/8” x 3-5/8” x 6” x 3” U-Bolt

UB5458 1H0-105O-V2 5/8” x 4-5/8” x 7” x 3” U-Bolt

Square - U-Bolt

SUB1318 1/2” x 3-1/8” x 5” x 2-1/2” Square U-Bolt

SUB1418 1H0-105P-V2 1/2” x 4-1/8” x 6” x 3” Square U-Bolt

DESCRIPTION:
•	 Kits includes U-Bolt, two Nuts, two Lock Washers, and two Flat Washers 
•	 Long thread lengths
•	 Hot-dip galvanized
•	 SAE J429 GR-2

SUB1418

UB1306



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 26

OEM P/N RCPC Part# Size Type Thread Length

G38114 1H0-1034-V2 3/8” x 1-1/4” Grade 5 Full Thread

G38112 1H0-1035-V2 3/8” x 1-1/2” Grade 5 Full Thread

G3802 1H0-1036-V2 3/8” x 2” Grade 5 Full Thread

G38212 1H0-1037-V2 3/8” x 2-1/2” Grade 5 Full thread

G3803 1H0-1038-V2 3/8” x 3” Grade 5 Full Thread

G3804 1H0-1039-V2 3/8” x 4” Grade 5 Full Thread

G1201 1H0-103A-V2 1/2” x 1” Grade 5 Full Thread

G12112 1H0-103B-V2 1/2” x 1-1/2” Grade 5 Full Thread

G1202 1H0-103C-V2 1/2” x 2” Grade 5 Full Thread

G12212 1H0-103D-V2 1/2” x 2-1/2” Grade 5 Full Thread

G1203 1H0-103E-V2 1/2” x 3” Grade 5 Full Thread

G1204 1H0-103F-V2 1/2” x 4” Grade 5 Full Thread

G12045 1H0-103G-V2 1/2” x 4-1/2” Grade 5 Full Thread

G1205 1H0-103H-V2 1/2” x 5” Grade 5 Full Thread

G12065 1H0-103I-V2 1/2” x 6-1/2” Grade 5 Full Thread

G1208 1H0-103J-V2 1/2" x 8" Grade 5 Full Thread

G58112 1H0-103K-V2 5/8" x 1-1/2" Grade 5 Full Thread

G58134 1H0-103L-V2 5/8” x 1-3/4” Grade 5 Full Thread

G5802 1H0-103M-V2 5/8” x 2” Grade 5 Full Thread

G58312 1H0-103N-V2 5/8” x 3-1/2” Grade 5 Full Thread

G5804 1H0-103O-V2 5/8" x 4" Grade 5 Full Thread

G5806 1H0-103P-V2 5/8" x 6" Grade 5 Full Thread

G5807 1H0-103Q-V2 5/8" x 7" Grade 5 Full Thread

Rogers Approved Hardware
Grade 5 Hex Bolts

DESCRIPTION:
•	 Galvanized



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 27

Rogers Approved Hardware
Threaded Rods

DESCRIPTION:
•	 Galvanized
•	 Available in cut lengths or 6’ sections
•	 J429 Grade 2

OEM P/N RCPC Part# Diameter Length Type

G38R-12 1H0-103R-V2 3/8” 12” Hot-Dip Galvanized

G38R-72 1H0-103S-V2 3/8” 72” Hot-Dip Galvanized

G12R-6 1H0-103T-V2 1/2” 6” Hot-Dip Galvanized

G12R-8 1H0-103U-V2 1/2” 8” Hot-Dip Galvanized

G12R-10 1H0-103V-V2 1/2” 10” Hot-Dip Galvanized

G12R-12 1H0-103W-V2 1/2” 12” Hot-Dip Galvanized

G12R-20 1H0-103X-V2 1/2” 20” Hot-Dip Galvanized

G12R-24 1H0-103Y-V2 1/2” 24” Hot-Dip Galvanized

G12R-72 1H0-103Z-V2 1/2” 72” Hot-Dip Galvanized

G58R-8 1H0-1040-V2 5/8” 8” Hot-Dip Galvanized

G58R-10 1H0-1041-V2 5/8” 10” Hot-Dip Galvanized

G58R-12 1H0-1042-V2 5/8” 12” Hot-Dip Galvanized

G58R-14 1H0-1043-V2 5/8” 14” Hot-Dip Galvanized

G58R-18 1H0-1044-V2 5/8” 18” Hot-Dip Galvanized

G58R-24 1H0-1045-V2 5/8” 24” Hot-Dip Galvanized

G58R-48 1H0-1046-V2 5/8” 48” Hot-Dip Galvanized

G58R-72 1H0-1047-V2 5/8” 72” Hot-Dip Galvanized

G34R-72 1H0-1048-V2 3/4” 72” Hot-Dip Galvanized



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 28

Rogers Approved Hardware
Galvanized Hex Nuts, Lock Washers, and Flat Washers

DESCRIPTION:
•	 Galvanized

GALVANIZED HEAVY HEX NUTS

OEM P/N RCPC Part# Size Type

G38NUT 1H0-1049-V2 3/8” 2H Heavy

G12NUT 1H0-104A-V2 1/2” 2H Heavy

G58NUT 1H0-104B-V2 5/8” 2H Heavy

GALVANIZED LOCK WASHERS

OEM P/N RCPC Part# Size

G38LW 1H0-104C-V2 3/8”

G12LW 1H0-104D-V2 1/2”

G58LW 1H0-104E-V2 5/8”

OEM P/N RCPC Part# Size Type

G38FW 1H0-104F-V2 3/8” USS

G12FW 1H0-104G-V2 1/2” USS

G58FW 1H0-104H-V2 5/8” USS

GALVANIZED FLAT WASHERS

GALVANIZED SQUARE WASHERS/ BACKING PLATES

OEM P/N RCPC Part# Hole Size Size

SQW38 1H0-104I-V2 7/16” 1/4” x 2” x 2”

SQW12 1H0-104J-V2 9/16” 1/4” x 2” x 2”

BP4 1H0-104K-V2 3/4” 1/4” x 4” x 4”

BP6 1H0-104L-V2 3/4” 1/4” x 6” x 6”



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 29

Rogers Approved Wall Mounts
Wall Mounts

OEM P/N RCPC Part# Description Quantity Weight

SP221-RCI 1H0-100I-V2 4” Hollow Wall Kit Kit of 2 115 lb

SP222-RCI 1H0-100J-V2 4” Solid Wall Kit Kit of 2 140 lb

SP221-U 1H0-104M-V2 Universal 4” Hollow Wall Kit Kit of 2 117 lb

SP222-U 1H0-104N-V2 Universal 4” Solid Wall Kit Kit of 2 142 lb

DESCRIPTION:

SP221-RCI SP222-U

HEAVY-DUTY WALL KIT
•	 Full-size backing plates are included with hollow wall kit
•	 Stands 4” off wall
•	 Mounting plate is 12” x 12” with 9/1” holes on 10” centers

SQ-TUBE STAND OFF WALL KIT
•	 Use to install panel or whip antennas
•	 Kits include U-Bolts for 2-3/8” and 2-7/8” Antenna Mounting Pipes
•	 Order Antenna Mounting Pipe separately 
•	 If mounting a 3-1/2” OD  pipe, purchase U-Bolts (UB1358) separately
•	 Wall plate is 1/2” thick by 8-1/2” square with four 11/16” holes on 6” centers
•	 Standoff is 4” x 3/16” square tube
•	 Order hardware to mount to hollow or solid walls

OEM P/N RCPC Part# Description Quantity Weight

WWM01 1H0-105Q-V2 8” Standoff Wall Mount Each 25 lb

WWM02 1H0-105R-V2 24” Standoff Wall Mount Each 38 lb

HWK58 1H0-105S-V2 Hollow Wall Mount Kit 11 lb

SWK58 1H0-105T-V2 Solid Wall Mount Kit 9 lb

SBWM 1H0-1009-V3 Slider Bracket Wall Mount Kit for 
2-3/8” or 2-7/8” MountingPipe Kit of 2 52 lb

WWM01



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 30

Rogers Approved Rooftop Mounts
Penetrating Rooftop Mounts

OEM P/N RCPC Part# Description Weight

TP1-10RCI 1H0-100E-V2 10’ Single-Sector Penetrating Rooftop Mount 1,102 lb

DESCRIPTION:
•	 2-3/8” OD x 10’6” face width hold three panel antennas
•	 Unique angle iron base eliminates weep hole and pinch pockets
•	 Includes three 3-1/2” OD x 216” Mount Pipes
•	 Includes six POLE -SNGL-BP Andrell Pole-Single Sided Kits



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 31

Rogers Approved Rooftop Mounts
Rooftop Mount Constructor Set

OEM P/N RCPC Part# Face Width Mounting 
Pipes Foot Print # of POLE-DBL-BP Weight

CSRT1-16-RCI 1H0-100A-V2 8’ - 0” 1 96” x 90” 1 650 lb

CSRT1D-16-RCI 1H0-100B-V2 10’ - 0” 1 120” x 132” 1 750 lb

DESCRIPTION:
•	 Modular design allows for easy assembly and deployment
•	 Kits include: Pipe Caps, Rubber Mats, Mounting Pipes, and Ballast Tie Downs
•	 Easy customization possible, please inquire
•	 Tray inside width: 17-5/8”
•	 Typical ballast sizes: 4” x 8” x 16” and 8” x 8” x 16”
•	 Concrete ballast sold separately and to be sourced by service provider

CSRT1-16-RCI

CSRT1D-16-RCI



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 32

Rogers Approved Rooftop Mounts
Rooftop Mount Constructor Set

OEM P/N RCPC Part# Face Width Mounting 
Pipes Foot Print # of POLE-DBL-BP Weight

CSRT12-2D-RCI 1H0-100C-V2 12’ - 6” 2 150” x 180” 2 1,400 lb

CSRT12-3D-RCI 1H0-100D-V2 13’ - 0” 3 156” x 180” 3 1,800 lb

DESCRIPTION:

•	 Modular design allows for easy assembly and deployment
•	 Kits include: Pipe Caps, Rubber Mats, Mounting Pipes, and Ballast Tie Downs
•	 Easy customization possible, please inquire
•	 Tray inside width: 17-5/8”
•	 Typical ballast sizes: 4” x 8” x 16” and 8” x 8” x 16”
•	 Concrete ballast sold separately and to be sourced by service provider

CSRT12-2D-RCI

CSRT12-3D-RCI



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 33

Rogers Approved Rooftop Mounts
Rooftop Mount Constructor Set

OEM P/N RCPC Part# Description Weight

TRPD-HD* 1H0-100C-VW Heavy-Duty Non-Penetrating Tri 343 lb

DESCRIPTION:

•	 Heavy-duty
•	 Welded trays for quick assembly
•	 Accepts 2-3/8” - 4-1/2” mast Pipes
•	 Order Pipe and Rubber Mats separately



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 34

BALLAST TRAY BRACKET (CSRT-B)
•	 Attaches to 2 7/8” horizontal round member
•	 Mounts directly to Ballast Tray
•	 Attachment Hardware included
•	 Tray inside width: 17-5/8”
•	 Typical ballast sizes: 4” x 8” x 16” and 8” x 8” x 16”
•	 Concrete ballast sold separately and to be sourced by service provider

Rogers Approved Rooftop Mounts
Additional Ballast Tray Kits

OEM P/N RCPC Part# Description Weight

CSRT-T44 1H0-1029-V2 44” Ballast Tray 37 lb

CSRT-T87 1H0-1028-V2 87” Ballast Tray 67 lb

CSRT-BTD 1H0-102A-V2 Ballast Tie Down Kit 15 lb

CSRT-RRU 1H0-1026-V2 RRU Mounting Kit with Andrell Brackets 60 lb

CSRT-B 1H0-1027-V2 Ballast Tray Bracket 5 lb

MAT18 1H0-100W-V2 Rubber Mat (1/2” x 18” x 48”)

DESCRIPTION:
RRU MOUNTING KIT (CSRT-RRU)
•	 Includes POLE-DBL-BP
•	 Mounts directly to Ballast Tray
•	 Attachment Hardware included

CSRT-B

CSRT-RRU

CSRT-T87

CSRT-T44

CSRT-BTD



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 35

Cable Trays, Bends, Junctions and Risers

Rogers Approved Cable Trays

OEM P/N RCPC Part# Description

LT-12-4D 1H0-100E-VW 12" x 12' Straight Aluminum Cable Tray

LT-VSS-12-A 1H0-100F-VW 12"x12' Alum. Cable Tray Cover

LT-C45-12-4D 1H0-100G-VW 12" Aluminum Cable Tray 45 Deg Horizontal Bend

LT-V45-12-A 1H0-100H-VW 12" Aluminum Cable Tray 45 Deg Cover

LT-C90-12-4D 1H0-100I-VW 12" Aluminum Cable Tray 90 Deg Horizontal Bend

LT-V90-12-A 1H0-100J-VW 12" Aluminum Cable Tray 90 Deg Cover

LT-TJ-12-4D 1H0-100K-VW 12" Aluminum Cable Tray Horizontal T-Junction

LT-VTJ-12-A 1H0-100L-VW 12" Aluminum Cable Tray Horizontal T-Cover

LT-RI90-12-4D 1H0-100M-VW 12" Aluminum Cable Tray 90 Deg Inside Vertical Riser

LT-VRI90-12-A 1H0-100N-VW 12" Aluminum Cable Tray Inside Vertical Riser Cover

248-12-DC 1H0-100O-VW 12" Cable Tray Cover Connector

LT-SS-A 1H0-100P-VW Aluminum Cable Tray Straight Splice kit

9131 1H0-100Q-VW Aluminum Cable Tray Hold Down

DESCRIPTION:

STRAIGHT ALUMINUM CABLE TRAY 
•	 5” side rails with 4” loading depth
•	 9” rung spacing
•	 Each 12’ section includes splices and hardware
•	 3/4” Lip on both sides

BENDS. T-JUNCTIONS, AND RISERS
•	 Each section includes splice plates and hardware
•	 Matching cover listed below



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 36

Galvanized Steel Dead-Ends (Preforms)

Rogers Approved Guy Components

OEM P/N RCPC Part# Description Application

320500 1H0-100C-V3 3/16" Galvanized Steel Dead-En 7 wire EHS

320501 1H0-100D-V3 1/4" Galvanized Steel Dead-End 7 wire EHS

320502 1H0-100E-V3 5/16" Galvanized Steel Dead-En 7 wire EHS

320503 1H0-100F-V3 3/8" Galvanized Steel Dead-End 7 wire EHS

320504 1H0-100G-V3 7/16" Galvanized Steel Dead-En 7 wire EHS

320505 1H0-100H-V3 1/2" Galvanized Steel Dead-End 7 or 19 wire EHS

320506 1H0-100I-V3 9/16" Galvanized Steel Dead-En 7 or 19 wire EHS

320507 1H0-100J-V3 5/8" Galvanized Steel Dead-End 7 or 19 wire EHS

320508 1H0-100K-V3 11/16" Galvanized Steel Dead-E 19 wire EHS or Bridge Strand

BG-2112 1H0-100L-V3 3/4" Galvanized Steel Dead-End 19 wire EHS 

BG-MS-7023 1H0-100M-V3 7/8" Galvanized Steel Dead-End 19 wire EHS 

DESCRIPTION:
•	 For use with left-hand galvanized guy strand
•	 Stocked in Plymouth, IN and Carrollton, TX facilities



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 37

Select™ Bolt-Type Anchor Shackles

OEM P/N RCPC Part# Description Inside Width  
at Pin Pin Dia. Working Load  

Limit (tons)
Breaking 
Load (lb)

320751-I 1H0-100N-V3 1/2" Bolt-Type Anchor Shackle 13/16” 5/8” 2 20,000

320752-I 1H0-100O-V3 5/8" Bolt-Type Anchor Shackle 1-1/16” 3/4” 3-1/4 32,500

320753-I 1H0-100P-V3 3/4" Bolt-Type Anchor Shackle 1-1/4” 7/8” 4-3/4 47,500

320754-I 1H0-100Q-V3 7/8" Bolt-Type Anchor Shackle 1-7/16” 1” 6-1/2 65,000

320755-I 1H0-100R-V3 1" Bolt-Type Anchor Shackle 1-11/16” 1-1/8” 8-1/2 85,000

320756-I 1H0-100S-V3 1-1/8" Bolt-Type Anchor Shackl 1-13/16” 1-1/4” 9-1/2 95,000

320757-I 1H0-100T-V3 1-1/4" Bolt-Type Anchor Shackl 2-1/32” 1-3/8” 12 120,000

DESCRIPTION:
•	 Forged shackles
•	 Bolt-type anchor
•	 Thin-head bolt with nut and cotter pin
•	 Hot-dip galvanized
•	 Meet Federal Specification RR-C-271D, Type IVA, Grade A, Class 3
•	 Stocked in Plymouth, IN and Carrollton, TX facilities
•	 Parts shown are imported; domestic parts are available upon request

Rogers Approved Guy Components



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 38

Select™ Thimbles

OEM P/N RCPC Part# Description Max. Pin Dia.

320776-I 1H0-100U-V3 1/4" Thimble 13/16”

320777-I 1H0-100V-V3 5/16" Thimble 15/16”

320778-I 1H0-100W-V3 3/8" Thimble 1-1/16”

320779-I 1H0-100X-V3 7/16" Thimble 1-3/16”

320780-I 1H0-100Y-V3 1/2" Thimble 1-7/16”

320782-I 1H0-100Z-V3 5/8" Thimble 1-5/8”

320783-I 1H0-1010-V3 3/4" Thimble 1-7/16”

320784-I 1H0-1011-V3 7/8" Thimble 2-1/8”

320785-I 1H0-1012-V3 1" Thimble 2-3/8”

DESCRIPTION:
•	 Heavy duty
•	 Hot-dip galvanized
•	 Stocked in Plymouth, IN and Carrollton, TX facilities

Rogers Approved Guy Components



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 39

Select™ Jaw-Eye Turnbuckles

OEM P/N RCPC Part# Description Break Strength lb

320596-I 1H0-1013-V3 1/2" x 12" Jaw/Eye Turnbuckle 11,000

320597-I 1H0-1014-V3 5/8" x 12" Jaw/Eye Turnbuckle 17,500

320595-I 1H0-1015-V3 3/4" x 12" Jaw/Eye Turnbuckle 26,000

162930-I 1H0-1016-V3 7/8" x 12" Jaw/Eye Turnbuckle 36,000

162931-I 1H0-1017-V3 1" x 12" Jaw/Eye Turnbuckle 50,000

320625-I 1H0-1018-V3 1-1/4" x 18" Jaw/Eye Turnbuckl 76,000

320626-I 1H0-1019-V3 1-1/2" x 18" Jaw/Eye Turnbuckl 107,000

DESCRIPTION:
•	 Heavy duty
•	 Hot-dip galvanized
•	 Jaw end include bolt with nut and cotter pin
•	 All meet Federal Specification FF-T-791B, Type1, Form 1, Class 8
•	 Stocked in Plymouth, IN and Carrollton, TX facilities

Rogers Approved Guy Components



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 40

End Sleeves (Ice Clips)

OEM P/N RCPC Part# Description Ref. #

320550 1H0-101A-V3 3/16" End Sleeve2.255 GC-65303

320551 1H0-101B-V3 1/4" End Sleeve GC-65136

320552 1H0-101C-V3 5/16" End Sleeve GC-65128

320553 1H0-101D-V3 3/8" End Sleeve GC-65264

320554 1H0-101E-V3 7/16" End Sleeve GC-65265

320555 1H0-101F-V3 1/2" End Sleeve GC-65266

320556 1H0-101G-V3 9/16" End Sleeve GC-65267

320557 1H0-101H-V3 5/8" End Sleeve GC-65268

320558 1H0-101I-V3 11/16" - 3/4" End Sleeve GC-65269

320559 1H0-101J-V3 13/16" - 7/8" End Sleeve GC-65270

DESCRIPTION:
•	 For use on helical dead-ends for galvanized EHS guy strand
•	 Hot-dip galvanized
•	 Stocked in Plymouth, IN and Carrollton, TX facilities

Rogers Approved Guy Components



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 41

Rogers Chair Mounts
Cabinet Chair Mount

OEM P/N RCPC Part# Description Weight

CH01 1H0-100G-V2 Chair Mount: Typical outdoor cabinet (modeled around DCI 6000 series) 380 lb

CH02 1H0-100H-V2 Chair Mount: Walk-In Cabinet (modeled around typical WIC) 1,430 lb

DESCRIPTION:
OUTDOOR CABINET CHAIR MOUNT (CH01)
•	 Designed for cabinet DCI6100, DCI6200, and DCI6300
•	 Empty = 500 lb (227 kg)
•	 Maximum Gross Weight: 2,640 lb (1,200 kg)

WALK-IN CABINET CHAIR MOUNT (CH02)
•	 Frame is designed for WIC 5’ x 8’ by Hybrid Building Logistics
•	 Empty = 2,000 lb (907 kg)
•	 Maximum Gross Weight: 6,000 lb (2,722 kg)

CH01

CH02



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 42

Rogers Approved Rooftop Mounts
Cable Tray Assembly

OEM P/N RCPC Part# Description Weight

RTC12-RCI 1H0-101N-V2 Cable Tray, 16 gauge galvanized steel (H: 6” x W: 12” x L: 96”) 50 lb

C20 1H0-100F-V2 Rubber Rooftop Support (H: 4 7/8” x W: 6” x L: 19.2” 11 lb

DESCRIPTION:
CABLE TRAY ASSEMBLY
•	 16 gauge hot dipped galvanized steel cover
•	 Kit includes tray, cover, and hardware
•	 Cover height 6”
•	 Extra hardware included to prevent rodent intrusion from weep holes

RUBBER ROOFTOP SUPPORTS
•	 Small rubber supports provide an economic alternative for rooftop cable support
•	 100% recycled rubber, does not require a separate rubber mat
•	 UV resistant strut 1-5/8” wide by 13/16” tall
•	 Maximum load 750 lb per 9.6”
•	 Order separately 

RTC12-RCI

C20



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 43

Andrell Pole Mounts 

Rogers Approved Mounts

OEM P/N RCPC Part# Description Pole Attachment Weight

POLE-SNGL-BP 1H0-100K-V2 Andrell Pole-Single Sided Kit 2 7/8” - 5-9/16” diameter 24 lb

POLE-DBL-BP 1H0-100L-V2 Andrell Pole-Double Sided Kit 2 7/8” - 5-9/16” diameter 33 lb

POLE-SNGL-XL 1H0-100M-V2 Andrell XL Pole-Single Sided Kit 2 7/8” - 5-9/16” diameter 32 lb

POLE-DBL-XL 1H0-100N-V2 Andrell XL Pole Double Sided Kit 2 7/8” - 5-9/16” diameter 49 lb

POLE-UB-XL 1H0-100O-V2 Andrell XL Pole-U-Bolt Kit 2 7/8” diameter 24 lb

POLE-UB-BP 1H0-100P-V2 Andrell Pole U-Bolt Mounted Kit 2 7/8” diameter 16 lb

JR-PLATE 1H0-100Q-V2 RRU Bent Plate 7 lb

DESCRIPTION:
•	 RRU mounting holes intended for Ericsson radios 4415, 4449, and 4478
•	 Two RRUs per BP-PLATE (165 kg max)
•	 Use 10” long rod if mount pipe OD exceeds 4-1/2” for double sided pole kits
•	 All kits include M8 screws for RRU attachment

POLE-DBL-BP

POLE-SNGL-BP

POLE-UB-BP

POLE-UB-XL

POLE-DBL-XL

POLE-SNGL-XL

JR-PLATE



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 44

Rogers Approved Small Cell Mounts
Side Mount Assembly

OEM P/N RCPC Part# Description Application Weight

18A-ARTSO-1 1H0-100R-V2 Radio Pole Mount Assembly with OMNI brackets Holds two radios, four OMNI KRE, and one Fiber Box 250 lb

18A-ARTSO-2 1H0-100S-V2 Radio Pole Mount Assembly Holds two radios and one Fiber Box 89 lb

18A-ARTSO-3 1H0-100T-V2 Rail Assembly Radio Pole Mount Assembly Holds two radios, four OMNI KRE, and one Fiber Box 37 lb

BA206 1H0-101Y-V2 Stainless Steel Banding, 3/4” x 100’ roll

BU256-25 1H0-101Z-V2 Stainless Steel Banding Buckles, 25/pk

T001 1H0-1020-V2 Banding Tool

DESCRIPTION:
•	 Compatible with Ericsson radio 2203
•	 Fiber box mount plate included in all kits
•	 Order pole attachment hardware separately
•	 Where required, use 4 x 3/8” lag bolts (min. 4” long), or 2 x 3/8” threaded rods through 

pole. These can be used in addition to or in place of straps

18A-ARTSO-1

18A-ARTSO-2

18A-ARTSO-3



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 45

Standoff Assembly

OEM P/N RCPC Part# Description Weight

40W-KIT 1H0-100U-V2 Double Bracket 40W Small Cell Kit 70 lb

40W-SCMNT-KIT 1H0-100V-V2 Single Bracket 40W Small Cell Kit 65 lb

BA206 1H0-101Y-V2 Stainless Steel Banding, 3/4” x 100’ roll

BU256-25 1H0-101Z-V2 Stainless Steel Banding Buckles, 25/pk

T001 1H0-1020-V2 Banding Tool

DESCRIPTION:
•	 Install the stand-off weldment on the pole with the pipe hanging downwards
•	 Where required, use 4 x 3/8” lag bolts (min. 4” long), or 2 x 3/8” threaded rods through 

pole. These can be used in addition to or in place of straps
•	 Assemble front plate and back plate together before u-bolting on the stand-off pipe
•	 Install the power/fiber plate to the back plate
•	 Order pole attachment hardware separately

Rogers Approved Small Cell Mounts



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 46

Top Shroud

Rogers Approved Small Cell

OEM P/N RCPC Part# Description Weight

APT-2T1826EK 1H0-101O-V2 Black 18” x 26” Exposed 4G Top Shroud 135 lb

APT-2T1826EB 1H0-101Q-V2 Brown 18” x 26” Exposed 4G Top Shroud 135 lb

APT-2T1826EU 1H0-101R-V2 Gray 18” x 26” Exposed 4G Top Shroud 135 lb

APT-KRE18-BK1 1H0-101S-V2 Antenna Bracket Kit 4 lb

APT-ASP-U3 1H0-101T-V2 Triple Radio Mount 7 lb

APT-2T1826Ex

DESCRIPTION:
•	 Pole Top Concealed Solutions – Radios (2203/4402) x 4 small Omni Antennas in Top 

Shroud
•	 Open shrouds offer an exposed cantenna while concealing cables and mounting 

brackets
•	 Shroud heights include 24” cone plus shroud extension 
•	 Non-standard colors also available with 99% accuracy, please inquire

APT-KRE18-BK1



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 47

Top Shroud

Rogers Approved Small Cell

OEM P/N RCPC Part# Description Weight

APT-2T1848VK 1H0-101U-V2 Black 18” x 48” Concealed 4G Top Shroud with equipment zone 180 lb

APT-2T1848VB 1H0-101W-V2 Brown 18” x 48” Concealed 4G Top Shroud with equipment zone 180 lb

APT-2T1848VU 1H0-101X-V2 Gray 18” x 48” Concealed 4G Top Shroud with equipment zone 180 lb

APT-2T1848Vx

Closed

DESCRIPTION:
•	 Cylindrical shrouds provide full concealment of cantenna, cablesand equipment
•	 Shroud heights include 24” cone plus shroud extension
•	 Two-part shrouds hinge open for easy access
•	 APT-2T1848Vx includes extra disc for CBRS/LAA zone
•	 One-piece weather resistant dome cap
•	 Non-standard colors also available with 99% accuracy, please inquire

APT-2T1848Vx

Open



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 48

Concealed Side Arms and Pipe Side Arms

OEM P/N RCPC Part# Description Length Weight

SMA-GIMBAL24 24” Side Mount Arm Gimbal 24" 66 lb

SMA-GIMBAL36 36” Side Mount Arm Gimbal 36" 89 lb

SMA-MP24 24” Pipe Side Arm 24" 26 lb

SMA-MP36 36” Pipe Side Arm 36" 34 lb

BA206 1H0-101Y-V2 Stainless Steel Banding, 3/4” x 100’ roll

BU256-25 1H0-101Z-V2 Stainless Steel Banding Buckles, 25/pk

T001 1H0-1020-V2 Banding Tool

DESCRIPTION:

CONCEALED SIDE ARMS
•	 Provide 10° multi-axial adjustment 
•	 24” or 36” versions
•	 Attach to wood, steel, aluminum, concrete, or composite poles
•	 Cables can be run inside arm
•	 Accommodate flanged pipe extensions
•	 Fit standard 4G antennas using 3/8” mounting hardware on 4” and 6” bolt circles  

or 3/4” – 1” center stud
•	 Kits include threaded rods and lag bolts for direct mounting
•	 Can also be mounted with banding (purchased separately) 

PIPE SIDE ARMS
•	 24” or 36” versions
•	 Attach to wood, steel, aluminum, concrete, or composite poles
•	 Accommodate flanged pipe extensions
•	 Kits include threaded rods and lag bolts for direct mounting
•	 Can also be mounted with banding (purchased separately) 

SMA-MP24

SMA-GIMBAL24

Rogers Approved Small Cell Mounts



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 49

Flanged Pipe Extensions and Clamp-On Attachment Kits

OEM P/N RCPC Part# Description Flange Weight

PESF-206 2-3/8” x 6” Pipe Extension Single 6 lb

PESF-230 2-3/8” x 30” Pipe Extension Single 13 lb

PESF-254 2-3/8” x 54” Pipe Extension Single 21 lb

PEDF-3018 2-3/8” x 18” Pipe Extension Double 23 lb

PEDF-3030 2-3/8” x 30” Pipe Extension Double 31 lb

PEDF-3042 2-3/8” x 42” Pipe Extension Double 39 lb

APT-CC2 Two-Level Clamp-On Attachment Kit Fits Pole Sizes: 5” – 15” 39 lb

APT-CC3 Three-Level Clamp-On Attachment Kit Fits Pole Sizes: 5” – 15” 58 lb

DESCRIPTION:

FLANGED PIPE EXTENSIONS 
•	 Use single-flanged extensions with Small Cell Antenna Mount  

and Basic Mast Attachment Pole Top Mounts
•	 Use double-flanged extensions with Gimbal Pole Top Mounts
•	 Single-flanged extensions are 2-3/8” sch 40
•	 Double-flanged extensions are 2-7/8” sch 80

PESF-230 PEDF-3036

CLAMP-ON ATTACHMENT KITS
•	 Use to clamp Pole Top Kits to existing poles
•	 Available in two-level and three-level versions

APT-CC2APT-CC3

Rogers Approved Small Cell Mounts



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 50

Gimbal Pole Top Mounts and Gimbal

OEM P/N RCPC Part# Description Channel Length Pole Diameter Weight

APT-GIMBAL15 Short Multi-Axial Adjustment Pole Top Kit 15” 3-1/2” – 9” 13 lb

APT-GIMBAL21 Long Multi-Axial Adjustment Pole Top Kit 21” 3-1/2” – 9” 35 lb

APT-GIMBAL Multi-Axial 4G/5G Adjustment Kit Height: 8” 42 lb

BA206 1H0-101Y-V2 Stainless Steel Banding, 3/4” x 100’ roll

BU256-25 1H0-101Z-V2 Stainless Steel Banding Buckles, 25/pk

T001 1H0-1020-V2 Banding Tool

DESCRIPTION:

GIMBAL POLE TOP MOUNTS 
•	 Provide 10° multi-axial adjustment
•	 Fit standard 4G antennas using 3/8” mounting hardware on  

4” and 6” bolt circles or 3/4” – 1” center stud
•	 Accommodate flanged pipe extensions
•	 Attach to wood, metal, concrete, or composite poles
•	 Kits include threaded rods and lag bolts for direct mounting
•	 Can also be mounted with banding (purchased separately)

GIMBAL
•	 Provides 10° multi-axial adjustment
•	 Fits standard 4G antennas using 3/8” mounting hardware on 4” and 6” bolt circles  

(top and bottom) or 3/4” – 1” center stud
•	 Accommodates flanged pipe extensions 

APT-GIMBAL

APT-GIMBAL15

Rogers Approved Small Cell Mounts



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 51

Lightweight and Multi-Material Pole Top Mounts

OEM P/N RCPC Part# Description Channel Length Pole Diameter Weight

APT-MAST15 Short Mast Attachment Kit 15" 4” – 12” 25 lb

APT-MAST21 Long Mast Attachment Kit 21" 4” – 12” 31 lb

APT-MMA15 Short Mast Attachment Kit 15" 3-1/2” – 9” 29 lb

APT-MMA21 Long Mast Attachment Kit 21" 3-1/2” – 9” 35 lb

BA206 1H0-101Y-V2 Stainless Steel Banding, 3/4” x 100’ roll

BU256-25 1H0-101Z-V2 Stainless Steel Banding Buckles, 25/pk

T001 1H0-1020-V2 Banding Tool

DESCRIPTION:

LIGHTWEIGHT POLE TOP MOUNTS 
•	 Fit 1.9” to 2-7/8” OD masts
•	 Attach to wood, metal, concrete, or composite poles
•	 Kits include threaded rods and lag bolts for direct mounting
•	 Can also be mounted with banding (purchased separately)
•	 Accommodate flanged pipe extensions 

MULTI-MATERIAL POLE TOP MOUNTS
•	 Provide 10° multi-axial adjustment
•	 Allow attachment of aftermarket non-conductive uprights 3-1/2” to 4” in width
•	 Attach to wood, metal, concrete, or composite poles
•	 Kits include threaded rods and lag bolts for direct mounting
•	 Can also be mounted with banding (purchased separately)

APT-MAST15

APT-MMA15 APT-MMA21

Rogers Approved Small Cell Mounts



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 52

Top Shroud

Rogers Approved Small Cell

OEM P/N RCPC Part# Description Weight

APT-2T1808EK Black Top Shroud 93 lb

APT-2T1808EB Brown Top Shroud 93 lb

APT-2T1808EU Gray Top Shroud 93 lb

APT-KRE18-BK1 1H0-101S-V2 Antenna Bracket Kit 4 lb

BA206 1H0-101Y-V2 SS Banding 100' Roll

BU256-25 1H0-101Z-V2 Banding Buckles

T001 1H0-1020-V2 Banding Tool

APT-2T1808Ex

DESCRIPTION:
•	 Pole Top Concealed Antenna Shroud – 4 x Mini Omni Antenna’s in Top Shroud & Radio’s  

at the Base 
•	 Open shrouds offer an exposed cantenna while concealing cables and mounting 

brackets
•	 Shroud heights include 24” cone plus shroud extension 
•	 Non-standard colors also available with 99% accuracy, please inquire

APT-KRE18-BK1



TOLL FREE:  1-833-GET-PRO1 (1-833-438-7761)
ROGERSSP1SUPPORT@VALMONT.COM 53

Top Shroud

Rogers Approved Small Cell

OEM P/N RCPC Part# Description Weight

APT-ASP-U3 1H0-101T-V2 Universal Spine Bracket 7 lb

APT-ASP-U3

DESCRIPTION:
•	 Mounts to 2 7/8” OD Round Member 
•	 Slotted design for universal attachment
•	 Accepts 3/8” hardware (sold separately)



© 2023 Valmont Telecommunications, Inc. All Rights Reserved.  
Valmont and Site Pro 1 are registered trademarks of Valmont Industries, Inc. 
V2.2 Latest Update 01/23


